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EES
SEHE R | T BABMER| BAToHARN| RATHAE EXE HAXUEE 2| W= |(BHEBER BEIAS| Bit |[RihKE|scmEs|somsek| ZRIEE
m/s m/s m/s °C % MJ MJ hPa % % %
1:00[ L7 8.3[Fadt 75.6 0 0 0 0 0 0] 10079 68
2:00[JtF 6.3[FadL 716 0 0 0 0 0 0 68.1
3:.00[JtF ] 8|dL 713 0 0 0 0 0 0] 1009.2 68.1
4:00[JLJE 7 ] 6.8|JL 735 0 0 0 0 0 0] 1009.4 68.2
5:00[dL L B 6.5/dLdtFE 70 0 0 0 0 0 o] 10105 68.2
6:00[ 7 ] 7.1[dedtFE 69.6 0 0 0 0 0.01 0.01] 10115 68.2
7.00[JtFE ] 5.1]JL 70.1 0 0 0 0 0.12 0.13] 10125 68.2
8:00[JtF ] 73|t 67 0 0 0 0 0.36 0.49 68.2
9:00[3t ] 6.5/dt 65.6 0 0 0 0 0.54 1.04] 101338 68.2
10:00[Jt B 7.3[3t 63.1 0 0 0 0 0.82 1.85] 10139 68.1
11:00[JLIEFE ] 6.8[dt 58 0 0 0 0 1.03 2.88] 10144 68
12:00[JLIEFE B 6.9[dLitFE 57 0 0 0 113 401 10145 67.8
13:00[Jt 7 B 75[dLdtFE 55.3 0 0 0.6 1.88 588 10145 67.6
14:00[Jt 7 B 7.6/t 529 0 0 1 247 8.36 674
15:00[dLEE 8.1|FA 514 0 0 0.6 1.65 10.01 67.2
16:00]Jt E 5.6[JtJtFE 46.3 0 0 0.1 1.1 11.11] 10144 66.9
17:00[dk E 573t 44.6 0 0 0 0.6 11.71] 1014.9 66.6
18:00[JLEE E 473t 527 0 0 0.4 05 12.21] 10155 66.4
19:00[®g B 41[3t 65.2 0 0 0 0.05 12.27]  1016.1 66.4
2000/ 1.6|mIREF 715 0 0 0 0 12.27] 1016.9 66.5
21:00[F 2.8[4L 736 0 0 0 0 12.27]  1017.2 66.6
22:00[ L7 AEES 79.2 0 0 0 0 12.27]  1017.4 66.8
23:00[F INESGED 82.4 0 0 0 0 12.27] 10176 67
24:00:00| 5 18[& 86.2 0 0 0 0 12.27]  1017.9 67.3
B
YRR | T EE BAEMER| BATHHAR HAREE e |FBREAR BRIBS| A5 |[HRthkE ERE
m/s m/s MJ MJ hPa %
Eiy 65.6 1013.7 675
e E[Ai 8.3| AL 86.5 1017.9 68.3
HCHF 0:49 23:59 4:32
FIE 42.9 1007.2 66.2
HEEF 16:58 18:49
BE 2.7 12.26 12.27
ELRSEEE (%)
[ dtdsE [ &= = R | mm=m | m®m [ mmee | [ Emee | It&E I B XA
AREEES1—)] 1. 1] 2.1] . 0.9] 275] 12.3] 26] 0]




